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I. 12 mwn: allusion teaching that a boat is not nkmv Yapn- v. 1 (compared to the sea)
a. Inference: since we know that the ship goes to sea, phrase must be teaching analogy (sea::ship)
b. Alternative source (7222n): inferred from pw — which is carried empty and full — excluding a boat
i Split the differencel: if boat is ©In (Wood is defined by pw, written together in re: p7v nrmY, vIN isn’t)
1. py7% still a “boat in the sea” 2 not NRMY Yapn
2. /man% even though not carried 1p>m Ron, still nrmv Hapn
ii. Split the difference2: if the boat “sails” the Jordan
1.y~ still o 2% R
2. /panf ARMY 91PN, per RIPY 12 R1IN I — 1170 Nrav is nRMY Yapn because it is laden on land
and then taken down to sea (i.e. 171 RYn nHvHoMm)
a. Tangent: value of always attending win n’a

i. Example (27): to learn the reason for 1770 n»av NRMY
ii. Extent (572w pany #9): even on his last day (v. 2 — “5nR” being nin nr)
iii. ~27 201N must hold that %1059, even if it is only done by oxen (not by hand) is still knvn

1. Per: 2:13 093 — 3 kinds of m%y (all pulled by animals) and their levels of nxkmv nYap
a. Carriage: is susceptible to all, including v
b.  Flatbed: is susceptible to all but o111 NRMV
c.  mesh (made for carting rocks): not susceptible at all (due to holes)

i 22 /7. if it is solid enough to hold pomegranates, it is nkmL Yapn

2. Addendum: 7:13 093 - 3 types of boxes and their levels of nxno nbap
a. If: it opens on the side (can be sat upon and opened w/o the ar getting off) — even 07N
b. If: it opens on top — all but D171 NRML (“NN RNYV”)
c.  Butif:itis very large — invulnerable to nkm0

II. Related discussion —3:1 (p”2) 0’93 RNavIN
a.  N19D17 ©711 of ©IN Y3 is MNY; 0P 1 — even a boat
i. Interpretation1 (722r 37): ©IN *93 ©ITNA is NNV, but Yan (direct contact) is RnY; as is a boat of vIN (®213N2)
1. »op /1. disagrees about the boat (also 111v) — as per ™ in our nMwn
2. Challenge (97): then what is the meaning of ")®” (“even a boat”)?
ii. Interpretation2 (979): N3 ©17T1 is MNY, but Yan is rRnY;

1. but: contact with wood is 8nv, whether yan or o110
a.  but: 1190 Nov is MY, as per our RN ("D’ 251 PIR”)

2. ooy ’7. even TN NYAL is RNL (per Rn)

III.  Related discussion — source for n1nv of ©YT on VIN *93
a. rpmr per v.3 compares 1t to his bed (07n);

i. Just as: he has nInv in a mpn
ii. So too: v must be a material that has mpna nnv (not o)
b.  Snypw’ “7 237 v. 4 — compares bed (071Tn) of a "M to her (same equation)
i. Challenge (xy5°x 77): source for nn nrmMY for a yan (mat of reeds — which, as yy *»3 »01w9, should be v, but

since it is utile as a 2w 20WN, has N NRMLV) —1”p from small pots

1. Small pots: are not NRMY Yapn from a a1, but are Xnv if found in NN YK

2. Mats: which are v nRmY Yapn, certainly are susceptible to nn nRMY
a. In other words: even though they have no mpna nanv, it has nn nrmo
b.  Defense (82211 77): p» ¥93 *0194 (Pan) has n7nv in its species (other wood materials — yy 53 *5apn)
c.  Counter (8p2’N ”7): resolution of vv. 4-5 — if it is of a type that has mpna nInv — v RNY; if not — 1NV

c.  N37v. 6 —if there is Y'na Ty, the N *93 is still 19nY, even if it was set aside for his (nT1) wife to sit on
i. Therefore: any 07N "2 can’t be v ®NY, else the Yna Tnx wouldn’t be yxin
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